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import numpy as np
def optimal_strategy(lambda_val):
J = np.zeros((7, 1001))
strategy = np.zeros((7, 1001))
for k in range(6, 0, -1):
for Sk in range(1000, -1, -1):
max_value = -1
best_xk = 0
for xk in range(@, Sk + 1):
if k == 6:
JIkI[SK] = ©

continue

reward = 5 * Sk + 3 * xk - lambda_val * max(@, 350 - int(©.9 * Sk - 0.2 * xk))

next_state = int(0.9 * Sk - 0
value =
if value > max_value:
max_value = value
best_xk = xk
JIkI[SK] =

strategy[k] [Sk] = best_xk

max_value

return J, strategy
lambda_val = 10000 # 0 X A%/ TF 350

J_values, optimal_strategies =

print("Optimal total material transported:

s1=1000
s2=int(s1*0.9-optimal_strategies[1][s1]*0

s3=int(s2*0.9-optimal_strategies[2][s2]*0.

s4=int(s3*0.9-optimal_strategies[3][s3]*0
s5=int(s4*@.9-optimal_strategies[4][s4]1*0
s6=int(s5*0.9-optimal_strategies[5][s5]*0
print(sl,s2,s3,s4,s5,s6)

.2 * xk)

reward + J[k + 1][next_state]

optimal_strategy(lambda_val)

", J_values[1][1000])

.2)
2)
.2)
.2)
.2)

print(optimal_strategies[1][sl],optimal_strategies[2][s2],optimal_strategies[3][s3],

optimal_strategies[4][s4],optimal_strategies

[51[s51)




